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2 AP ) 26,222,156 21,945,526 4,276,630
= 1,440,690
z 17,950,000
= 6,831,466
AW YT 2AE 26,194,870 21,918,420 4,276,450
23 1,440,690
z 17,950,000
= 6,804, 180
MAF JIBFAIY BE 6,097,862 9,709,812 A3,611,950
2 940,690
3 3,100,000
= 2,057,172
2584 (21) 2,000,000 1,250,000 750,000
3 1,600,000
= 400,000
401 Al HI L 2 HH] 2,000,000 1,250,000 750,000
z 1,600,000
= 400,000
01 Al &t 1,995,000 1,246,875 748,125
OXgoia s 1,995,000
z 1,596,000
= 399,000
03 Al &bl 5,000 3,125 1,875
OXIOIE 2 &AL =X 5,000
3 4,000
= 1,000
IR0 PEXR(2D) 499,500 806,250 306,750
2 460,000
= 39,500
201 Lor2 | 5,000 0 5,000
01 ALR22IH] 5,000 0 5,000
OMIFOIH AN 2 5,000
403 TIXI SRS XH= 0| H 494,500 806,250 A311,750
2 460,000
= 34,500
01 KX B K= 2 X 494,500 806,250 A311,750
OO 2R 494,500
2 460,000
= 34,500
Ngois SxE4 400,000 650,000 A250,000
401 Al HI LS HH] 400,000 650,000 A250,000
01 Al & H] 400,000 647,000 247,000
OXoE B4 - HABNE) 300,000
OXIOIE N O R Al & 85 100,000




A AR
mu: puegs ofgle 25
9l MAH DIBIAIA BB (Etol: & 2
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
HEZFOHEME 413,000 350,000 63,000
403 XX SHS =01 & 413,000 350,000 63,000
01 AXIEHA2 2L 413,000 350,000 63,000
OEAMENHE &4 50,000
OHENE=HEY] 100,000
OEFEFNENY X& 163,000
OUAE+E2TAL 100,000
Ao Matd SO 341,672 41,672 300,000
202 (44l 12,672 12,672 0
01 =2 WA b 12,672 12,672 0
OHZolloley Mad =M 12,672
403 XX SHHESXH=0l & 329,000 29,000 300,000
01 AXIEH 22X 329,000 29,000 300,000
O©2JtAtel =0 At 29,000
OFXLN7 dE2AXE =4 300,000
MEBHLH? AMBEAS(21) 508,000 564,200 A 56,200
= 450,000
= 58,000
403 XX &M S =01 & 508,000 564,200 A 56,200
= 450,000
& 58,000
01 AtXIEH X2 E X 508,000 564,200 256,200
OdZEold o7 AEES 508,000
2 450,000
= 58,000
s FHe Hetiial X 20,000 20,000 0
307 2I2toI ™ 20,000 20,000 0
02 It A2 X 20,000 20,000 0
Ot HQ HABal K& 20,000
SaHFIol SR (=1) 30,690 30,690 0
= 30,690
201 Bt2A | 8,000 12,000 24,000
= 8,000
01 AtR2tel 8,000 12,000 24,000
OFagAYe NS 8.000
= 8,000
202 (44| 3,000 3,000 0
= 3,000
01 S LHA bl 3,000 3,000 0
o4 FHO WEEd I A2 3,000
= 3,000
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301 LEtEAZ 16,490 12,490 4,000
= 16,490
10 HALAIHI 2 A= 16,490 12,490 4,000
OxMNHHHO NEs:d L 2HET 16,490
= 16,490
307 QI2t0| & 3,200 3,200 0
= 3,200
02 QIZtF3 a8 3,200 3,200 0
O PEHIAG S XA 3,200
= 3,200
A Y HIOIAS S XA 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
02 OI2HFAMNE X 10,000 10,000 0
OLJEZXLAHEOl ASHE XA 10,000
st A4 (=21) 1,875,000 0 1,875,000
= 1,500,000
= 375,000
401 AIEHIZ 20| 1,875,000 0 1,875,000
= 1,500,000
& 375,000
01 Al&HI 1,869,938 0 1,869,938
oxNgHeHd 1,869,938
& 1,495,950
== 373,988
03 AIE20HY| 5,062 0 5,062
OXNYHEAHAL AILFA 5,062
= 4,050
& 1,012
sy 4 7,784,004 7,237,304 546,700
= 500,000
= 5,500,000
= 1,784,004
O & MAHAE 22l 384,004 667,504 A 283,500
202 (4 Hi 9,504 9,504 0
01 2| 9,504 9,504 0
O M ETLHAY F&X 9,504
403 XIXISHHSA=20| A 374,500 658,000 A 283,500
01 AXHMAN2E X 374,500 658,000 A 283,500
OZNMAEHE NH_XH 50,000
Ol === AlHIM A 48,000
OA28USH ASHEAEHE 60,000
OEE=et NAHRSIEX AMEES 16,500
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OHIISBSHA=S et ) 200,000
IBHEAY(ZD) 4,125,000 3,000,000 1,125,000
= 3,300,000
= 825,000
401 Al Bl 22 bl 4,095,000 2,985,000 1,110,000
= 3,276,000
< 819,000
01 Al Hl 4,084,000 2,974,200 1,109,800
CRIE=IVEINF- 4,084,000
= 3,267,200
= 816,800
03 Al & S CTH bl 11,000 10,800 200
OQABNZAIMALY Z& 11,000
= 8,800
= 2,200
403 X+ XI €Al S KH2 01 & 30,000 15,000 15,000
= 24,000
= 6,000
02 I 2SOl CHatCH & AL | 30,000 15,000 15,000
OB EAIL HRIEA 30,000
z 24,000
= 6,000
HEOEE(ZD) 575,000 375,000 200,000
z 300,000
= 275,000
401 Al2HI 2 S CH bl 375,000 375,000 0
= 300,000
< 75,000
01 Al Hl 372,300 372,300 0
ONZOE 2o 372,300
= 297,840
= 74,460
03 Al & ST H| 2,700 2,700 0
ONZ0Y 248 2,700
z 2,160
= 540
403 KX SHHIS K201 & 200,000 0 200,000
01 HXSHH=E S 200,000 0 200,000
OUIE R B0 x =4 200,000
HICtE XA (2D) 840,000 840,000 0
= 800,000
< 40,000
403 KX EHHI S KH2 01 & 840,000 840,000 0
= 800,000
= 40,000
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01 XX S K= 2 & 840,000 840,000 0
CININEESE! 840,000
=l 800,000
= 40,000
SMUERHALZAL(2D) 1,120,000 1,085,000 35,000
3 1,000,000
= 120,000
403 THXI SIS X2 0| & 1,120,000 1,085,000 35,000
3 1,000,000
= 120,000
01 XX SHH K2 2 & 1,120,000 1,085,000 35,000
O&MERALE 1,120,000
=l 1,000,000
= 120,000
AMEQUE SUFAH(2D) 140,000 70,000 70,000
3 100,000
= 40,000
403 REXISHRIS XH= 0| & 140,000 70,000 70,000
3 100,000
= 40,000
02 2 J12HS Ofl CHBHCH 8 AL 21 ] 140,000 70,000 70,000
OXNERMALE SHEZA 140,000
3 100,000
= 40,000
HAZDHSE 21 600,000 0 600,000
= 500,000
= 100,000
403 TEXISHHIS XH2 0| & 600,000 0 600,000
=2 500,000
= 100,000
01 XX S KH2 2 & 600,000 0 600,000
ONAB2HSE 212 600,000
= 500,000
= 100,000
SEANM T& U M2 XKD 12,313,004 4,971,304 7,341,700
=l 9,350,000
, = 2,963,004
SM2 REAL(2D) 367,500 1,606,800 A1,239,300
3 300,000
= 67,500
403 REXISHRIS XH= 0| & 367,500 1,606,800 A1,239,300
3 300,000
= 67,500
01 XX S KH= B 367,500 1,606,800 1,239,300
O&MSABIAIL 367,500
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2 300, 000
= 67,500
G RSHE AE X/(=1) 2,430,000 0 2,430,000
= 1,400,000
== 1,030,000
403 XiXI SR S X201 & 2,430,000 0 2,430,000
2 1,400,000
== 1,030,000
01 XtXISHH A2 2 = 2,430,000 0 2,430,000
Ox=itEEFRSHH 1,820,000
2 1,400,000
= 420,000
OFMSHWHAILE X 500,000
O==t=ABHAIE XA 110,000
A2 B RSIIEAIE L B2 100,504 609,504 509,000
202 04t 9,504 9,504 0
01 SLHoidl 9,504 9,504 0
o422 I8 - RSIIBAIE & HZOHH 9,504
307 212+0I & 15,000 15,000 0
02 It a8 X 15,000 15,000 0
O==42 SUAHISIEA N 15,000
403 XX SHHS =0l & 76,000 585,000 509,000
01 XtXISHH A2 E = 76,000 585,000 509,000
o=x¢t2 ==X 2FHIE N 30,000
OlU#+9 YSHED AlL 25,000
ouEZel MAHE etEdIgtxd 21,000
FUSINSUAFH (2 D) 5,005,000 2,755,000 2,250,000
2 4,050,000
== 955,000
403 Xk XI SHHI S X201 & 5,005,000 2,755,000 2,250,000
2 4,050,000
L= 955,000
01 XM= L2 X 5,005,000 2,755,000 2,250,000
O LS A RIS AIE 1,885,000
2 1,450,000
= 435,000
OFMSH2IM AL 3,120,000
2 2,600,000
= 520,000
QAAIZAAHE X ZH (2 D) 4,410,000 0 4,410,000
2 3,600,000
== 810,000
403 XHXISHAI S XH2 01 & 4,410,000 0 4,410,000
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